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“"Tim Whiskers” Can Disable Your Spacecraft”
Why are they such an issue and particularly an issue for NASA?  Well, they’re conductive—very conductive.  In normal atmospheric applications here on Earth, the whisker is small enough and resistant enough that, if a significant current flows through it, it will heat up, evaporate and disappear—about 10 milliamps is usually enough for that to happen.  But in space, once the current evaporates the tin, it forms a metal gas, or plasma, and it can conduct hundreds of amps.  We have seen evidence of 200 amps through this metal gas.  And it draws fresh tin from the plated surface to maintain the arc.  And this has been sufficient in several instances now to disable satellites on orbit.  There are three which have ceased to operate completely, and another four or so where one side has been disabled.  The current was sufficient to blow main spacecraft power fuses and isolate the brains of the spacecraft.

